ING
k)

N—9f) - TR~ 4

B-1 f&:H

G

11

hzt



(1) (#®)

(2) (#)

5
&OT.X%%%H,EETﬁéo

(3) (&)

A
1T <13 .

. 5] i ] 5]
1
5

3 3 ]
3 5

~ oo
~ o
~ I~

~ ~

ETI—TOEKE. 1, 2, 3+ - LEZTLS,
PEIE. 2n—1. nlZTIL—TDEOCES

; 14x13
100§5®ﬁﬁ\1+2+---+13=—~%——=91;U\

140 N—TD9OBBDHTH S,
14T7L—T0RBIE. 2X14—-1=27. 145 L—TDIBEDHFIE. 2X9—-1=17,

[14 ]

1 i ... 1

27 4 21 27

17
& DT, ROEHEIL. ;'@&360
(4) ) 15508 - - - o - 9X1= 9 {&

255D - - 90 - 90X2=180 {&
3T7AME - - 900 — 900X3=2700 FEOHFELHS.

1164— (9+180) =975&Y, ROBIEIE. 3720DHTHB.
975+3=325&kY, 3¥EDI25FBDREVENKDIHTHY.
99+325=424,

KT, KHEEF424THS,



(i)
B3 Pa—Re0
L2121 RE@EHBL L.

ARDESICRTIENTES,

Da—RET100FKES &,

100=7+6X15+3

&oT, $53V21—RI&. 16KTHB,
100+16=116

£2T. RDEEIF. 116KTHB,

OO0 = = =«
.o....

Q0O = » =

@000



(1) () THEREY, XKEEIORSEZRHDERL.
1 1 1
TOX2XTXX2+10X2XAX—+ 10X 2XAX X2

=5m+10n+5mn
=20
=62,8 om
F2T, ROKEIF. 62, 8emTH S,

?@ |

(2) (%) TEOKSIZ, BEREZ, ERTEADS, AMEHIORSEROD LR,

1 1 il
6XZXHXI+3X2XHXI+6X2XHXEX2

3
=3H+Eﬁ+4ﬁ

=8,5m
=26,69 cm
£2T. RODDHEEF. 26.69emTHD,




4

(1) (B8 Y0, LOFEEZE. 4x A
BOFFFEZ. x AEBLE.
(4x—100) =2 (x+100)
COREXERL,
4x—100=2x+200
4x—2x=200+100
2x=300
x=150
4xXx150=600 H
£oT. RKHHEE. 600HTH S,

(2) (#2) FOEEZE., x AE&BL,
(4600—x):(4000—x) =3: 2
COAEBRKXEE
2 (4600—x) =3 (4000—x)
9200—2x=12000—3x
3x—2x=12000—9200
x=2800 H
£oT, RHHERK. 2800MTH S,



5

(1) (88 B0, LOMFEEE,. 6x H
BOFEFEEE. x HBAEHL L.
5x+550=2X (x+2000)
CORERZTE,
5x+550=2x+4000
5x—2x=4000—550
3x=3450
x=1150
5X1150=5750 H
KoT. RDEHEL. 5750ATHS.

(2) (#8) BOF#%E. 5x ¥
FELDERE, x FEB L.
5x+7=3 (x+7)

—OFEXEHEL,
5x+7=3x+21
5x—3x=21—-7
2x=14
x=7
FoT. RODBEK. 7TFTH S,



